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AE* + DE* = AD?*, HMW. AE 1. DE, t (1) AE 1 BC, X DENBC=E, FrL\

AE | “Fifii BDC .
KL E NIES, RCLED. EB. EAXNXHh. Y 3. z #7436 B AL R,
m D(1,0,0), A4(0,0,1), £(0,0,0), B(0,1,0),

B4 EF = DA=(~1,0,1)» AE =(0,0,—1),» StADB=(~11,0)-
AB=(01,—1)» AF =(~1,0,0)

WV ABD, Tl ABF KREIIRSHE m=(x,y,2)» n=(a,b,c);



;1'55:_1'.'4—);:0 —_— —
1 WMx=1, Mm=(,1,1), A¥En=(0,11)>
m-AB=y—z=0

7n’-?§| > %

BTl ABD 5Vl ABF (596 , W cost = = = g
3 xd2 3
o] 45

FﬁUsinﬂzg, Bl —fifa D—AB—F E@E%ﬁﬁ%g.

Tk (1)IEB]: %4 4E. DE,

"*DB=DC,E N BC [fH

..DE 1 BC

"*DB=DC, /ADB = ZADC =60° , DA }J A3tk

S INADBL ANADC

.AB=AC,.:.AE 1 BC ,X. AEN\DE =E , AE,DE c F{fii ADE ,JiTLA BC 1 “Fifii ADE ,
# BC L AD.

(2) Ak DA=DB=DC=2, ## AB=AC=2,BC=2\2,DE=2, TEHM RIAAEB
h, BAE=J2» FTLAAE* + DE* = 4D?» WWAE1DE. X AE L BC, DENBC=E,
BC,DE c “¥[iif BCD ,JitUA AE L *V-Ti BCD .

WMELLE NE S, WL ED. EB. EAJgX~ Y~ 2 #fid r 23 [A) B M AR &R

ME©, 0, 0), 4 (0, 0, J2), D(J2, 0, 0), B(O, V2., 0), X

EF =DA=(—2,02), BF (-2, 0, J2),

N AB =(0,2,—2),DB = (—2,2,0), BF =(—2,-2,\2)

BFl DAB (i & n = (x.y,2), W "glﬁr‘ﬁ“ﬁﬁo, S y=1, Bn=@1L1),
n-AB=\2y-2z=0

6] B 0] #5971 ABF 19—/ m = (0,1,1)

L STE b GJef e, N 6 m’; = A zﬁy
RV DAB 55V ABF MRFANG , WleosOl =2 =

| m
L sin @ = ‘f WA D—AB—F[I‘JH?%‘Z{E%—\Q—E-
21, (124)) ML C PO AR, A F (-29/5,0) 0% 5
(1)K C 77

P CHBLE. FARRANA, A, 8 B(-4,0)FHELS CHAEXZET MN B, M
RN, HEMA 5 NAZFP, iEW: PEEHL L.



jj{"f g
i) (DEER c=2v5.e=/5=5, Ma=2, b* =16,
da

2 .

ﬂm%ﬁ o et

16
(3&ﬁﬁB%ﬁ&wqw4,ﬁjﬂ%&ﬁMFA)f—nw+%=0
; 321 8 -8
)~'Jy1 + :msyl oy = a7 —1 ’ J‘[Jxl +X, =r——1,
Ml A= NNy, 270 T750

Y, X, 42 * Y, X, ~2
&zﬁﬁzy@ﬁ 14y =(—2 + 1y,

2 X, —2

RAFTEEHE x=—1, PPEHL x=—1 L

yﬂ

L=~]
=
Qo
N
=y

P
N
HE—;
2 2
( ) '“—"y—= ’
16

2) ©H1 L yhhlt, AFFHEEE.
QHZK:x=ty—-4, M(x,,y,),N(x,,y,)» P(xy,¥,).

x=ty—4
BEAL Jr FEAHLRD ﬁ_i nl (412 =1)y* =32y +48=0,

4 16

4> —1#0
cHESWMENESLAENAIZS, B A>0 , W
Ny, <0



32t 48

5y1y2 =

+y, =—— =—
TR a1

(Y _
X MA, 55 NA, %8 F 5 P, 5

LAl X4l - X5=2_nx-2) »w,-

6)

Yo .. 73 X+ wlX+2)
Xg =& Xp—=2

=ty1yz_6y| ty,y2—6(y,+y,)+6y2

= = :.—3_E|]x0 -
y\y,—2y, 0y, -2y,
Frbl PEEHZ&Xx=-1 1
Hi=

MiEc=25.e=V5=5, Ma=2 b* =16
[7)

2 2

vy X Y
N — —— =1
" 4 16

Q)¥it 4 B (B y =k(x+4), Bt (4—k* x* —8k’x—16—16k* =0

8k> -16(1+4&%)
: 5 5.9
--xn‘xz+5(xl+xz):—4 B (x;, +— )(x1 5)—2 (*)
wEaMs: L=Lguang. 222

W ox+2 Yy X—2

R T 4 X+2 x—2 x+2 (x +2)(x +4)
.).\“i: . +4 & I :
R vl PR e B~ e )

(AW G = AL

9
x+2 _ (4 +2)(x, +4) _ dx,+ 10_5)(2 ) (2, +4) 0 +4) _ 1
x-2  (x+4)(x,-2) ( 9 _)( _2) (6x,+24)(x,-2) 3
4x,+10 2
xX+2 3
R ——=—=1x=—1, M PETHL x=—1 L.
x—2 3

22. (1243) (DIFH:40<x <1, x—x* <sinx < x;

(Q)EHMEH S (x) =cosax—In(1-x7) % x =0 f(x) BIBAKH ALK @ (I

[&R] ()i

3



Q)a<—J5ﬁa>J5
[#HT) (D2 h(x)=x—-x"—sinx, h0)=0, K(x)=1-2x—cosx, A'(0)=0,
h'(x)=-2+sinx<0, PrelA'(x)7E(0,1) SNk,
2 0<x <18, H(x)<h(0)=0, Fibhh(x)7E(0,1) ik,
LA 0 < x <1, A(x) < h(0)=0, FA0<x<1if,x—x* <sinx
4 g(x)=x—sinx, g(0)=0, g'(x)=1-cosx>0,
FTLA g(x) 7E (0,1) FLifigiig,
A 0<x <1, g(x) > g(0)=0, Fibl0<x<l1if,sinx<x
(2) f(x) =cosax—In(1-x7),
f(—x)=cos(—ax)—ln(l—x2)=f(x), FFEL f(x) NiBeR .

2x

f'(x)=—asinax+ -, f(0)=0,
1-x°

f'(=x) = —asin(—ax) + ]—2x2 =—f"(=x), FiLL f'(x) NATeREL.

2
f"'(x) =—d* cosax+% ,["(0)=2-4a%,

4(1-x*)+8x(1+x%)
(1-x*)

f"(x)=a’ sinax+

#12-a*>0, 2<a<28, f(0)=2-a>>0,

%t=min(l,£),”ﬁ|0<x<tﬂﬂ‘. F7(x)>0,  fr(x)TE(0,1) Hilib,
S"'(x)>f"(0)>0,

L) EEO,0) BARER,  £1(x)> £1(0)=0, f(x)7E(0,0) HifiBIE, Sx=0% f(x)
N NP

#2-a* <0, a<—28a>20, f"0)=2-4*<0,

a>2 1, 4>I=n1in(1,l),%'|0<x<tﬁ“i, S"(x)>0, f"(x)TE(0,r) i,
a



i it 1 2 2+2x2 m
Ll_l‘.’[llf (x)mlxl_r*rll(-a cosax+m)—+oo,

BbA 3x, €(0,¢) , 43 f"'(x,) =0, FiLhitixe(0,x,) 0, €73 f"(x)<0,
['(x)1E(0,x,) B, [f'(x)< f(0)=0, [f(x)7E(0,x,) FiHiEmR,

K f(x) HATRS, FUME (—xp0), £1(x)>0, f(x)TE (~x,,0) 555,

F(x) AmERE, R a<—V2 1, x=0%& £(x) MRAMHA.

#2-a*=0, a=—2HKa=V21, f"0)=2-a*=0,

a=+21t, f'(x)=_J§sinJ§x+12x2, x e (0,1) I,
—
f'(x)>-2x+ 2x2=2x( 12—1)>o,
l1-x 1-x

7E(0,1) f(x) i, S5x=0= f(x) PR KEATFE-
Fx) NBES, B a=—28,, 5x=08& £(x) BB A BTE.

g TR, a R a<—2 Ra>V2



